
For Technical Support: www.panduit.com/resources/install_maintain.asp

INSTALLATION INSTRUCTIONS © Panduit Corp. 2021 V00029VK

Page 1 of 2

PATCHRUNNER/NETRUNNER RACK TOP TROUGH
Part Number(s): WMPVWF

INSIDE MARKERS

OUTSIDE MARKERS

Width adjustment of WMPVWF

1. Adjust the width of the waterfall to fit your 
    rack by loosening the (4) Phillips head 
    screws (do not remove) and align them with
    the corresponding markers for your specific
    rack.
2. Tighten the (4) Phillips head screws.

For R2P: Use Inside markers

1. Align waterfall slots around the backbone part of the
    manager as shown.
2. Place waterfall mounting bracket under rack between the
    top angles so that the flanges will stop the bracket. Align
    holes in the bracket with the holes in the waterfall.
3. Fasten components together using (4) M6 x 8mm screws.

For R2P6S: Use Inside markers

1. Align waterfall slots around the backbone part of the
    manager as shown.
2. Place waterfall mounting bracket under rack between the
    top angles so that the flanges will stop the bracket. Align
    holes in the bracket with the holes in the waterfall.
3. Fasten components together using (4) M6 x 8mm screws.

Waterfall slots

Backbone

(4) M6 x 8mm 
screws

Waterfall
mounting
bracket

Waterfall slots

Backbone

(4) M6 x 8mm 
screws

Waterfall
mounting
bracket

VERTICAL CABLE MANAGERS
COMPATIBLE WITH WMPVWF

FRONT/REAR            FRONT ONLY

  WMPV22E                WMPVF22E

  WMPV45E                WMPVF45E

WMPVHC45E            WMPVHCF45E



INSTALLATION INSTRUCTIONS © Panduit Corp. 2021 V00029VK

E-mail:
techsupport@panduit.com

Phone:  
866-405-6654

For Instructions in Local Languages
and Technical Support:

www.panduit.com/resources/install_maintain.asp www.panduit.com

Page 2 of 2

For AR4P: Use Inside markers

1. Align waterfall slots around the backbone part of the
    manager as shown.
2. Align holes in waterfall with holes in rack.
3. Fasten components together using (2) M6 carriage bolts 
    & (2) M6 serrated nuts.

For R4P: Use Outside markers

1. Align waterfall slots around the backbone part of the
    manager as shown.
2. Align holes in waterfall with holes in rack.
3. Fasten components together using (2) M6 carriage bolts 
    & (2) M6 serrated nuts.

Waterfall slots

Backbone

(2) M6
carriage
bolts

(2) M6
serrated
nuts

Waterfall slots

Backbone

(2) M6
carriage
bolts

(2) M6
serrated
nuts


